
ANSWER KEYS 

GRAMMAR BANK 8A 

Exercise a: 

1. to spend  6. working 

2. Applying  7. solving  

3. to do   8. not going 

4. to open  9. modelling 

5. not to ask  10. to learn 

 

Exercise b: 

1. …to retire     

2. …commuting    

3. …not to worry     

4. …to lock     

5. …not to buy  

6. …leave 

7. …wear 

8. …not to make 

9. …doing 

 

GRAMMAR BANK 8B 

Exercise a: 

1 …(that) he was selling all his books. 

2 …(that) she had booked the flights. 

3 …(that) my new dress didn’t suit me. 

4 …(that) he might not be able to go to the party. 

5 …(that) she wouldn’t wear those shoes again. 

6 …(that) he hadn’t bought me a present. 

7 …(that) he couldn’t find anywhere to park. 

 

 

 

Exercise b: 

 

1 …when I was leaving. 

2 …if/whether he had ever been married. 

3 …if/whether he would be home early. 

4 …where I usually bought my clothes. 

5 …if/whether he had worn a suit to the job interview. 

6 …if/whether she ever went to the theatre. 

7 …if/whether he could help her. 

 


